6P3 - Describe positions on the full co-ordinate grid (all four quadrants)
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What are the coordinates of the dot?

(-1, 0) (1,0) (0, 1) (0, -1)

A corner of the square is missing.
What are the coordinates of the missing corner?

(3, -2) (2, 3) (-3, -2) (-2, -3)

Which symbol is at coordinates (0, -1)?
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® -3 b 3 n
* -4 n A

Which symbol is at coordinates (-3, -2)?

—
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A corner of the rectangle is missing.
What are the coordinates of the missing corner?

(2,3) (-3,2) (-3, -2) (2, -3)

A corner of the rectangle is missing.
What are the coordinates of the missing corner?

(0, 3) (3,-1) (-1, 3) (3,0




